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Spring 2019

Test #1.

ECE 463/663

1) Find the transfer funciton for a system with the following step response

=
>

500

Time (ms)




2) Give the state-space model for the following system
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Problem 3) (work either this problem or the mass-spring problem)

3a) Write four coupled differential equations to describe the following circuit
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Problem 3) (work either this problem or the circuit problem)

3a) Write two coupled 2nd-order differential equations to describe the following mass spring system
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4) Assume the LaGrangian is:
L=2%%+Xx9cos0 +62 +9.8cosH

Determine




